CHEMISTRY

BOOKS - P BAHADUR CHEMISTRY
(HINGLISH)

SURFACE CHEMISTRY

1.In a reversible reaction, a catalyst :



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_izH3v8w6mvk8

.increases the rate of the forward

reaction only

.increase the rate of the forward reaction

at greater extent than that of the

backward reaction.

. increase the rate of the forward reaction

and decreases that of the backward

reaction to different extent

.increases the rate of the forward and

backward reactions equally .


https://dl.doubtnut.com/l/_izH3v8w6mvk8

Answer: D

o Watch Video Solution

2. A catalyst is a substance which :

A. alters rhe equlibrium in a reaction

B. does not participate in the reaction byt

speeds it up

C. participates in the reaction and provides

an easier pathway for the reaction


https://dl.doubtnut.com/l/_izH3v8w6mvk8
https://dl.doubtnut.com/l/_RykDwrFHtImk

D.is always in the same phase as the

reactants

Answer: C

o Watch Video Solution

3. The efficiently of an enzyme in catalyzing a

reaction is due to its capacity

A. to form an enexyme-substrate complex


https://dl.doubtnut.com/l/_RykDwrFHtImk
https://dl.doubtnut.com/l/_z9N5HBeOP4Kj

B.to decrease the bond energies of the

substrate molecule

C.to change the shape of the substarate

molecule

D. none of these

Answer: A

° Watch Video Solution

4. Hydolysis of cane sugar is catalysed by :


https://dl.doubtnut.com/l/_z9N5HBeOP4Kj
https://dl.doubtnut.com/l/_mk2mMJBbKGTS

AHT

B. mineral acids

C. enzymes

D. all of these

Answer: D

° Watch Video Solution

5. Which is false for catalyst ?

A. A catalyst can initiate a reaction


https://dl.doubtnut.com/l/_mk2mMJBbKGTS
https://dl.doubtnut.com/l/_Rh6kyKnw7ggm

B.It does not alter the positon of the

equilibrium in a reversible reaction

C.A  catalyst remains uncharged

compositon at the end if the reaction

D. Catalyste are sometimes very specific in

respect of a reacton

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Rh6kyKnw7ggm

6. Which acts as poison for Pd-charcoal in

Lindlar cataluyst ?

A. BaSO,

B. quinoline

C.Bothaandb

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_BqmoCcKnRtid
https://dl.doubtnut.com/l/_ZxfWF4moGviK

7. Which statement about enzymes is

corect ?

A. Enzymes are in collodal state

B. Enzymes can act as catalysts

C. Enzymes can catalyse any raction

D. Urea is an enzyme

Answer: C

not

o Watch Video Solution



https://dl.doubtnut.com/l/_ZxfWF4moGviK

8. Which is an example os autro-catalysis ?

A.Decompositon of K(Ci03 + MnQO,

mnixture

B. The decomposition of nitroglycerine

C. Breakdown of _ 6C™.

D. Hydrogenation of vegetable oils using Ni

catalyst

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_dDaRm7gpgysO

9. Which forms cationic micelle ?

A. Sodium dodecyl sulphate

B. Sodium acetate

C. Urea

D. Cetyl trimethyl ammonium bromide

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_dDaRm7gpgysO
https://dl.doubtnut.com/l/_gwilHOYafnUE
https://dl.doubtnut.com/l/_p6JypEhLAh0x

10. Which type of metals form effecive

catalyssts ?

A. Alkali metla

B. Transiton metals

C. Alkaline earths

D. Radioactive metals

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_p6JypEhLAh0x

11. The decomposition of hydrogen peroxide

can be slowed by addition of a small amount

of acetamide..

A. detainer

B. stopper

C. promoter

D. inhibitor

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_eTNaUmsHx6HU

12. Which is wrong in case of enzyme catalysis

?

A.Enzymes are in collodal state at an

optimum temperature

B. Enzymes work at an optimum pH

C.Enzymes are highly specific for

substrates

D. An enzyme raises activatio enrgy

Answer: D



https://dl.doubtnut.com/l/_3u7OamzlhpLE

| 0 Watch Video Solution

13. The oxidation of oxalic acid by acidified
KMnO, becomes fast as the reaction
progresses due to:

A. auto-catalysis by Mn?*

B. presence of SO — 4%~

C.Presence of K '

D. presence fo MnO,

Answer: A


https://dl.doubtnut.com/l/_3u7OamzlhpLE
https://dl.doubtnut.com/l/_FR6ojyr41nBY

° Watch Video Solution

X
14. A plt of log — vs. log P for the adsorption
m
of a gasd on a solid gives a straight line with
slope equal to:
Al/n
B.ln K
C. —log K

D.n

Answer: A


https://dl.doubtnut.com/l/_FR6ojyr41nBY
https://dl.doubtnut.com/l/_oSmll1s4Revh

° Watch Video Solution

15. Physical adsorption is :

A. highly specific

B. reversible

C.irreversible

D. monolayer

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_oSmll1s4Revh
https://dl.doubtnut.com/l/_ZzxyYrLCkxCr

16. The minimum energy level necessary to

permit a reaction to occur is :

A.intermal energy

B. threshold energy

C. free energy activation erngy

D. activation energy

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ZzxyYrLCkxCr
https://dl.doubtnut.com/l/_OdWejF38suwD
https://dl.doubtnut.com/l/_tOJXgZ9q3UCH

17. According to Langmuir adsorption

isotherm, the amount of gas adosobed at very

high pressure

A. reaches a constant limiting value

B. goes on increasing with pressure

C. goes on decreasing with pressure

D. increases first and decrrease later with

pressure

Answer: A

I o Watch Video Solution


https://dl.doubtnut.com/l/_tOJXgZ9q3UCH

18. ZSM — 5is used to conver :

A. alcohol to petrol

B. benzene to toluen

C. toluene to benzen

D. heptance to toluene

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_tOJXgZ9q3UCH
https://dl.doubtnut.com/l/_Q4GqnWOOq7T9
https://dl.doubtnut.com/l/_A14pc4uhisng

19. Which equation represents Freundilisch
adsorptoon isotherm ( physical adsorpton is

basis is of this theory) ?

T :
A.— = K(P)"' were x is amount of gas
m
asorbed on mass m at pressure P
B log log K+ 1/nlog P
: =lo nlo
m g g
T T
C.— = KP at low pressure and — = K
m m

at hight pressure

D. all of these


https://dl.doubtnut.com/l/_A14pc4uhisng

Answer: D

o Watch Video Solution

20. The amount of gas adsorbed physically on

charcoal increases with :

A. temperature and pressure

B. tempreature and decrease with pressure

C. pressure and decrease with temperature

D. none of these


https://dl.doubtnut.com/l/_A14pc4uhisng
https://dl.doubtnut.com/l/_Fxxv4dTTcpbq

Answer: C

o Watch Video Solution

21. Gas masks containing activated chrcoal to

remove poisonous gases from atmosphere act

on principle of

A. adsortion

B. absorpton

C. sorpton

D. all of these


https://dl.doubtnut.com/l/_Fxxv4dTTcpbq
https://dl.doubtnut.com/l/_WumW0CxDy5RR

Answer: A

o Watch Video Solution

22.Zeolites are :

A. water softener

B. catalyst

C.Bothaandb

D. none of these

Answer: C


https://dl.doubtnut.com/l/_WumW0CxDy5RR
https://dl.doubtnut.com/l/_hvlP4JR92xhu

° Watch Video Solution

23. The activity and selectivlty of zeroites as

catlyst is besed on:

A. their pore size

B. size of their cavities on the surface

C.Bothaandb

D. none of these

Answer: C

| 8 l


https://dl.doubtnut.com/l/_hvlP4JR92xhu
https://dl.doubtnut.com/l/_4u6DDKtfuPma

24, Catalysts are more effective in

A. finely powdered state

B. colloidal state

C. rough surface

D. all of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_4u6DDKtfuPma
https://dl.doubtnut.com/l/_AdmdLycOrX8Y
https://dl.doubtnut.com/l/_ym05UCulJJbd

25. Zeolites :

A. are microporous aluminosilicate
B. have general formula
x/n[(AlO2) (Si02)4}.mH20.
C. have pore sizes beteen 260 + to 740
pm

D. all of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ym05UCulJJbd

26. Which gas is adsorbed strongly by charcoal

?

A.CO

B. N,

C. H,

D. NH,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ym05UCulJJbd
https://dl.doubtnut.com/l/_OcHxlvcRWzdo

27. Which forms nultimolecular layers during

adsroption ?

A. Physical adsorpton

B. van der Waals' adsorption

C. free energy activation adsorption

D. all of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_eNzfSuMdZHf3
https://dl.doubtnut.com/l/_GHuHomo8knEq

28. The curve showing the variation of

adorpton  with  pressure at constant

temperature is called :

A. an isostherm

B. adsorpton isotherm

C. absorption isotherm

D. all of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_GHuHomo8knEq
https://dl.doubtnut.com/l/_uvmBMCW7X3MY

29. Dyeing of filber involves the process of :

A. adsorption

B. absorpton

C.sorpton

D. all of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_uvmBMCW7X3MY

30. Which can adsorb largr velume
hydrogen fas ?

A. Colloidal solution of palladium

B. Finely divede nickel

C. Finely divided platinum

D. Collidal Fe(OH),

Answer: A

of

o Watch Video Solution



https://dl.doubtnut.com/l/_z1ilq4K85VdP
https://dl.doubtnut.com/l/_5PLu3OyBlEhQ

X
31. A plt of log pove vs. log P for the adsorption
of a gasd on a solid gives a straight line with
slope equal to :
A K
B.log K

C.ln K

D.1/n

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_5PLu3OyBlEhQ
https://dl.doubtnut.com/l/_PVeURLVi7Zxa

32. Which one is not the characteristioc of

chemnisorption ?

A. Multilayer assorpton

B. Exothermic in nature

C. Strong assorpton by free valencies

D. Irreversible

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_PVeURLVi7Zxa

33. The function of alcohol addition in stroing

chloroform is :

A. to act as negative catalyst

B. to retard he oxidation of CHCl;

C. to react with COCl, if formed

D. all of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_chttvnKp3pRX
https://dl.doubtnut.com/l/_LIZQs1FzLXQ9

34. Adsorpton is a ccormpanised by :

A. decrease in entropy of system

B. decrease in enthalpy

C.the value 0H is negative

D. all of the

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_LIZQs1FzLXQ9

35.0n adding few drops of dilHcl or FeCl3 to
freshly precipitated ferric hydroxide , a red
coloured clloidal solution is obtained . This
phenomenon is known as :

A. peptization

B. dialysis

C. protection dissolution

D. none of the above

Answer: A

‘ ° Wiak hh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_lHdMxHMCiETj

VVCILLIL VI INAGINIE ] J

36. The arsenious sulphide sol has negative
charge . The maximum coagulating power for
precipitiating it is of :

A. 0. ].NZ’I’L(NO3)2

B.0. INNa3 PO,

C.0. ].NZ’I’LSO4

D. 0. 2NAlCl3

Answer: D

| s ]


https://dl.doubtnut.com/l/_lHdMxHMCiETj
https://dl.doubtnut.com/l/_EFvoYnTq2UKW

| ¥ Watch Video Solution

37. Lyophilic sols are more stable than

lyophobic sols because :

A.the colloidal particels have postive

cahrge

B. the colloidal particles have no charge

C. the colloidal particles are solvated

D.there are a strong electrostatic

repulsion between the negatively


https://dl.doubtnut.com/l/_EFvoYnTq2UKW
https://dl.doubtnut.com/l/_21debXD80iEN

charged collidal particels

Answer: C

° Watch Video Solution

38. The Browinain motin is due to:

A.temperature fluctuations within the

liquid phase

B. attraction and repulsion between

charges on the colloidal particles


https://dl.doubtnut.com/l/_21debXD80iEN
https://dl.doubtnut.com/l/_tA9WoLPuT8Gl

C.impact of the molecules of the

dispersion medim on the collodal

particles

D. converice currents

Answer: C

o Watch Video Solution

39. the used of alum in pyrifuying muddy

water involves :


https://dl.doubtnut.com/l/_tA9WoLPuT8Gl
https://dl.doubtnut.com/l/_RyhSJnNGCmbf

A. absorpton

B. adsorpton

C. dialysis

D. coagulation

Answer: D

° Watch Video Solution

40. Which ion has least flocculation value for

a + vesol?


https://dl.doubtnut.com/l/_RyhSJnNGCmbf
https://dl.doubtnut.com/l/_daaJKyviq713

A [Fe(CN)g]"~
B.Cl~
C.50;"

D. PO}~

Answer: A

o Watch Video Solution

41. Which of the following represents

surfactant momecule ?


https://dl.doubtnut.com/l/_daaJKyviq713
https://dl.doubtnut.com/l/_XI2FSxnY4NcN

A. H,O

B. 017H35 COOH

C. 017H35 COONa

D. none of these

Answer: C

o Watch Video Solution

42. Bleeding is stopped by the application of

ferric chloride. This is because


https://dl.doubtnut.com/l/_XI2FSxnY4NcN
https://dl.doubtnut.com/l/_lHb27hS6yYbc

A. the blood starts flowing in the opposite

direction

B.the bloocd reacts and a solid is formed

which seals the blood vessel

C.the blood is coagulated and the blood

vessel is sealed

D.the ferric chloride seals the blood

vessed|

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_lHb27hS6yYbc

43. Gelation is often used as an ingredient in

the mabnufacture of ice -cream . The reason

for this is :

A. to statbillize the formation of a colloid

B.to stabilize colloid and prevent crystal

frowth

C. to cause the mixure to solidigy

D. to improve the filavour


https://dl.doubtnut.com/l/_lHb27hS6yYbc
https://dl.doubtnut.com/l/_VHpCksDjpDdY

Answer: B

o Watch Video Solution

44, Cloud bursts due to :

A. attraction towards the electrical charges

on the earth

B.large amount of water present in the

cloud


https://dl.doubtnut.com/l/_VHpCksDjpDdY
https://dl.doubtnut.com/l/_2VQb7r1Yzusd

C.dense cloud are present in the upper

atmosphere

D. mutual discharge of oppositely charged

clouds resulting in the coagulation.

Answer: D

o Watch Video Solution

45, The cotterells precipittor is used to :


https://dl.doubtnut.com/l/_2VQb7r1Yzusd
https://dl.doubtnut.com/l/_7NrjFPjgH5Nl

A. neutralise charge on carbon particles in

air in smoke

B. coagulate carbon atoms of smoke

C. bring in cataphorests in carbon particles

D. all of these

Answer: D

° Watch Video Solution

46. Peptization is a process of :


https://dl.doubtnut.com/l/_7NrjFPjgH5Nl
https://dl.doubtnut.com/l/_hhI7TCa1VuII

A. precipitating colloidal particles

B. purifying colloidal particles

C.dispersing the precitiate into colloidal

state

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_hhI7TCa1VuII

47. The blue colour of the water of the sea is

due to:

A.refraction of the blue light by the

impurities in sea-water

B. reflection of blue light by sea-water

C. scattering of blue light by sea particles

D. absorption of other colours expect the

blue colour by water molecules

Answer: C



https://dl.doubtnut.com/l/_QmFnM9gn6RcJ

| QJ Watch Video Solution

48. The property of colloidal suspension used

to determine the nature of charge on the

particles is :

A. dialysis

B. electrophoresis

C. sedimentation

D. ultrafiltration

Answer: B


https://dl.doubtnut.com/l/_QmFnM9gn6RcJ
https://dl.doubtnut.com/l/_yumEWCMZistL

° Watch Video Solution

49. Addition of dil. Solution of AgNOs(agq), to
excess of dil . Kl (aq). Gives :

A. Agl

B. 4 ve sol of Agl

C. —ve sol of Agl

D. neutral sol of Agl

Answer: C

| 8 l


https://dl.doubtnut.com/l/_yumEWCMZistL
https://dl.doubtnut.com/l/_zPym7lu3LqQG

50. Ultramicrosecope works on the principle of

A. light reflenction

B. light absorpton

C.light scattering

D. light polarisation

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_zPym7lu3LqQG
https://dl.doubtnut.com/l/_pF377gV35FVK

51. The coagualtion power of an electrolyte is

measured in terms of:

A. coagulation value

B. protective value

C. gold number

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_pF377gV35FVK
https://dl.doubtnut.com/l/_nhWvVgQZHtQN

52. The degree of protection of a lyophobic

colloid by the addition of a lyophilic colloid is

measured in terms of :

A. gold numer

B. coagultion value

C. sedimentation

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ZfZ5mRQP4Qbt

53. The minimum concetration of the

electrolyte required to cause coagurlation of a

sol is called :

A. preciptiation power

B. flocculation value

C. coagulation power

D. gold number

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_2YUxFmf8Pljj

54. The addition of alcohol to a saturated

aqueous solution fo calucium acetate first

forms a sol and them sets to a gelatinous mas

scalled solid alcohnlo ehich is a:

A. solid sol

B. aerosol

C. solid form gel

D. gel

Answer: D

I o Watch Video Solution


https://dl.doubtnut.com/l/_74rQZtRFySmg

55. The collidal solutions of gold prepared by

different methods have different colurs due to

A. differece in the size and shape:

B.the fact that gold exthbits varible

valebncy

C. different concentration of gold

D. presence of different types of collodal

particles


https://dl.doubtnut.com/l/_74rQZtRFySmg
https://dl.doubtnut.com/l/_GnCC7jUWCSbD

Answer: A

o Watch Video Solution

56. The potential differnce between the fixed

particles layer and the fiffused layer having

oppositoe charge id called :

A. zeeta potential

B. colloidal potential

C. streaming potential

D. dorn potential


https://dl.doubtnut.com/l/_GnCC7jUWCSbD
https://dl.doubtnut.com/l/_y7SY7j7imrK9

Answer: A

o Watch Video Solution

57. At CMC, the surfactant molecules

undergoes :

A. association

B. aggergation

C. micelle formation

D. all of these


https://dl.doubtnut.com/l/_y7SY7j7imrK9
https://dl.doubtnut.com/l/_bkbNOjHoCtff

Answer: D

o Watch Video Solution

58. Silica gel is commorbly used as :

A. wetting agent

B. drying agent

C. solvent

D. catalyst

Answer: B


https://dl.doubtnut.com/l/_bkbNOjHoCtff
https://dl.doubtnut.com/l/_Esk7gdsqvEEu

° Watch Video Solution

59. The cementation process is :

A. gel formation

B. emulsion formation

C. either of them

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Esk7gdsqvEEu
https://dl.doubtnut.com/l/_S3hwpNXvMi1v

60. An example of solid -solid system is :

A. smoke

B. cake

C. synthetic gems

D. pumic stone

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_S3hwpNXvMi1v
https://dl.doubtnut.com/l/_SEaBICAh9nhz

61. The outcome of inernal liquid of gels on

shear is called :

A. synetisis

B. thixotropy

C.swelling

D. none of there

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_yJSPtLF7FjGR
https://dl.doubtnut.com/l/_36s3a5QQK0xd

62. Colloidal solution commonly used

treatment of eye disseae is :

A. colloidal suphur

B. collidal silver

C. colloidal gold

D. colloidal antimony

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_36s3a5QQK0xd

63. Mediciners are more effective if they are

used in :

A. solid state

B. colloidal state

C. solution state

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_K1IgqJUkjjQt
https://dl.doubtnut.com/l/_CgfWBOHVXHx9

64. Whenever gels are placed with

dispersed phase . They:

A. swells up

B. show intake of the dispersed phas

C. develops imbiition

D. all of these

Answer: D

their

o Watch Video Solution



https://dl.doubtnut.com/l/_CgfWBOHVXHx9

65. If oil and water are made to mis in

presence of soap mixrure is :

A. solution

B. suspension

C. emulsion

D. stable emulsion

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_iODTqGOg58QZ
https://dl.doubtnut.com/l/_rrTZzbCYWUyb

66. The negative charge on As,.55 sol is due to

adsorption of :

A H™

B.OH ~

C.0*"

D.S%~

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_rrTZzbCYWUyb

67. The detergency action of soap is due to its

A. emulsifying property

B. micellisation

C. Both (a) and (b)

D. solubility in water

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_HnJhtA24ybw0
https://dl.doubtnut.com/l/_1TA9lThXWOh5

68. An example of intrinsc colloid is :

A. A8283 sol

B. Fe(OH), sol
C.egg albumin

D. Au sol

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_1TA9lThXWOh5

69. In styrene foam , the dispersed phas and

dispersion medium are respectively :

A. gas, gas

B. solid , solid

C. gas,solid

D. soild , liquid

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_sgpLi0DH7CGM
https://dl.doubtnut.com/l/_b6vb2sPDcQ1Y

70. In multimolecular colloidal soluions |,

atoms or molecules are held togethuer by :

A. H-bonding

B. van der Waals forces

C.ionic bonding

D. covalent bonding

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_b6vb2sPDcQ1Y

71. Artificial smoke screens ae made by :

A. Al,O4

B. PbO

C. NCLQO

D. 170,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_8EbmfRaYrCNI

72.Some types of gels like gelatin loose water

slowly . The process is known as :

A. synerisis

B. thixotropy

C. peptisation

D. imbibition

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_QmlfTSu7rAVD
https://dl.doubtnut.com/l/_mu2JrGLMPdsO

73. Soaking of water by a sponge is an example

of :

A. simple adsorption

B. physical adsorption

C. chemisorption

D. absorption

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_mu2JrGLMPdsO

74. Formation of ozoon from oxygen in

atomsphere is catalysed by :

A.NO

B. IV,

C.CO

D. sunilight

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_XweGILQWPHsA
https://dl.doubtnut.com/l/_5xhUBUt8mayE

75. In the formation of SO3by:
NO
2505 + Oy — 2503,
the catalytic action of NO is evidenced by the
formation of :
A. brown vapours
B. green vapours

C. wiolet vapours

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_5xhUBUt8mayE

76. The arerosol is (are ) the colloidal system

(s) of :

A. solid dispersed in gas

B. liquid dispersed in gas

C. gas dipesed in doled

D. gas dispersed liquid

Answer: a,b

o Watch Video Solution



https://dl.doubtnut.com/l/_5xhUBUt8mayE
https://dl.doubtnut.com/l/_ehhclzWyEapF

77. Which of the following is (are) colloid (s) ?

A. Muddy watse

B. Milk

C.Blood

D. Cholorophyll

Answer: a,bc

o Watch Video Solution



https://dl.doubtnut.com/l/_PVa0YB7Hc3Nh

78. Which is (are) correct statement (s) ?

A. Water is absorbed by anhydrous C'aCl,

B. Water is adsorbed by silica gel

C. NHj is absorbed by water but adsorbed

by charcoal

D. Decolorisation of sugar by animal

charcoal is based on adsorption

Answer: a,b,cd,

o Watch Video Solution



https://dl.doubtnut.com/l/_oK7sB1BTSDKD

79. The coagulation of sol particles may be

brought in by :

A. heating

B. adding oppositively charged sol

C. adding electrolyte

D. persitent dialysis

Answer: a,b,cd,

o Watch Video Solution



https://dl.doubtnut.com/l/_oK7sB1BTSDKD
https://dl.doubtnut.com/l/_xGLujzvVnkQf

80. The capacity of an ion to coa gualate a

colloidal solution depends on :

A. it's shape

B. amount of its charge

C. the sing of charge

D. none of these

Answer: b,c

o Watch Video Solution



https://dl.doubtnut.com/l/_4bXd3Yi8EUZR
https://dl.doubtnut.com/l/_lt1MX6Nd4KSA

81. Difference in between crystallid and colloid

is of :

A. particle size

B. to exhibit Tyndall effect

C. diffusion through a membrane

D. none of these

Answer: a,b,cd,

o Watch Video Solution



https://dl.doubtnut.com/l/_lt1MX6Nd4KSA

82. Cationic surfacant (s)is ( — ) :

A. the substances whose cation possesses
surface activity
B.C,H,,1(OCH,CH,) OX

C. CysHy NHCI

D, @ r<{O)sos:

Answer: a,c

o Watch Video Solution



https://dl.doubtnut.com/l/_rTsPoTzanuQy
https://dl.doubtnut.com/l/_QH5aHIDbOtng

8. Which is (rarr) not lyophobic in nature ?

A. Gelation
B. sulphur
C. Starch

D. Protein

Answer: a,cd,

o Watch Video Solution

84.The size of the colloid particles is :


https://dl.doubtnut.com/l/_QH5aHIDbOtng
https://dl.doubtnut.com/l/_7yVwiiJbckEK

A. less than Suspension particles

B. greater than Suspension particles

C. less than True solution particles

D. none of these

Answer: b,c,

o Watch Video Solution

85. Anionic surfactant (s) is (are) .


https://dl.doubtnut.com/l/_7yVwiiJbckEK
https://dl.doubtnut.com/l/_jt2WZTzhsuKt

A. the substances whose anion possesses

surfaces acitivity

B (b) C;5H3,COONa and R@SOBNa
.

C. 018H37NH3CZ

D. anion are associated to form miclles

Answer: a,b,d

° Watch Video Solution

86. Which is (are ) not natural colloid (s) ?


https://dl.doubtnut.com/l/_jt2WZTzhsuKt
https://dl.doubtnut.com/l/_B05gWh5snvKy

A. NaCl

B. Blood

C. RCOONa

D. sugar

Answer: a,c,d

o Watch Video Solution

87. The rate of a reaction increases with the
addition of catralyst . Which of the following

statement (s) do//does not explain this ?


https://dl.doubtnut.com/l/_B05gWh5snvKy
https://dl.doubtnut.com/l/_UAfi5FtYxG2Q

A.The average kinetic energy of the

molecules decrases

B. The number of collision increase

C. The activation energy increases

D. The activatlin energy decrease

Answer: a,b,cd,

° Watch Video Solution

88. A catalyst :


https://dl.doubtnut.com/l/_UAfi5FtYxG2Q
https://dl.doubtnut.com/l/_bEb34L1TRAVo

A.remains unchanged chemically at the

end of a reaction

B. usually does not initaiate a reaction

C.does not alter the equilibrium in a

reversible raction

D.is ussed for altering the velcoity of the

raction

Answer: a,cd,

o Watch Video Solution



https://dl.doubtnut.com/l/_bEb34L1TRAVo
https://dl.doubtnut.com/l/_9M7eluwsjDDF

89. Which of the following statement (s) is
(are) correct ?
A.lron is uded as a catalyst in the
hydrogenation of oils
B.v505 is used as a catlayst in the
oxidation of SO, to SO;
C. Haber's process requires iron as a catlyst
D. Thermite process does not involve any

catlyst


https://dl.doubtnut.com/l/_9M7eluwsjDDF

Answer: b,cd

o Watch Video Solution

90. Which of the following statement (s) is

(are) true ?

A. Anhydrous AlCl;3 is used as a catalyst in

Friedel -Craftes reaction

B. The oxidation of SO, to SO3 requires

V505 as the catalyst .


https://dl.doubtnut.com/l/_9M7eluwsjDDF
https://dl.doubtnut.com/l/_x0QZYWSzVu4T

C. The hydrogenation of oil requires nickel

as the catalyst

D. none of these

Answer: a,b,c

o Watch Video Solution

91. Which of the following statements is/are

correct in the case of heterogenous catalyst?


https://dl.doubtnut.com/l/_x0QZYWSzVu4T
https://dl.doubtnut.com/l/_s1DdAA9tRlAe

A.The cataluyst decreases the energy of

activaltion

B. The surface of catlyst plays an important

role

C.The catalyst actually forms a compoun

with ractants

D.There is no change in the energy of

activartion

Answer: a,b,c

o Watch Video Solution



https://dl.doubtnut.com/l/_s1DdAA9tRlAe

92. Which is (are) not ture in case of catalyst ?

A. A catalyst is active only in solution

B. The addition of catalyst changes the

equilibrium constant

C. A catalyst speeds up forward reaction

and slows the backwrd reaction

D. The composition of equilibrium mixture

Is not changed by a catalyst


https://dl.doubtnut.com/l/_s1DdAA9tRlAe
https://dl.doubtnut.com/l/_AXZTa6ThO2IN

Answer: a,b,c

o Watch Video Solution

93. Protons accelerate the hydrolysis of esters .

This is an example os :

A. a promoter

B. a heterogenous catlyst

C. an acid base catalyst

D. an auto-catalyst


https://dl.doubtnut.com/l/_AXZTa6ThO2IN
https://dl.doubtnut.com/l/_arrIH4rtwoDl

Answer: cd,

o Watch Video Solution

94. In a reversible reaction, the function (s) of

the catalyst is (are) :

A.to increase the rate of the forward

reactions only

B.to influence the forward and backward

reactions to the same extent


https://dl.doubtnut.com/l/_arrIH4rtwoDl
https://dl.doubtnut.com/l/_oGCD4RSuR479

C. to reduce the time required for reaching

the equilibrium state

D. none of these

Answer: b,c

o Watch Video Solution

95. Which of the following statements about

catalysts is // sre true ?

A. They change the equilibrium constant


https://dl.doubtnut.com/l/_oGCD4RSuR479
https://dl.doubtnut.com/l/_HKV5hMabCuZE

B. They decrease the activatio erengy

C.The shorten the time takent to reach

equlibrium

D.They influence the forward and the

revese reactions to the same extent

Answer: b,cd

o Watch Video Solution

96. Which act (s) as negative catalyst ?


https://dl.doubtnut.com/l/_HKV5hMabCuZE
https://dl.doubtnut.com/l/_FgP0CyMJNmqu

A. Lead tetraethly as anitknock compound

B. Glycerol in decomposition of HyO,

C. Ethanol in oxidation of chloroform

D. None of these

Answer:

o Watch Video Solution

97. Which a catalyst is added to a system, the:


https://dl.doubtnut.com/l/_FgP0CyMJNmqu
https://dl.doubtnut.com/l/_oNUtcCxwv4YE

A.value of the equilibrium constant

decrease

B. equilibrium concentrations are

unaffected

C.rate of reaction is increased

D. activation energy of the reaction

decrases

Answer: b,cd

o Watch Video Solution



https://dl.doubtnut.com/l/_oNUtcCxwv4YE
https://dl.doubtnut.com/l/_gUPPaoC0wTMS

98. Which is (are) rue in case of catalyst ?

A. A catlyst usually does not initiate a

reaction

B.It does not alter the positon of the

equilibrium in a reversible raction

C.A  catalyst remains  undcharged

compositon at the end if the reaction

D. Catalysts are sometimes very specific in

respect of a reasction


https://dl.doubtnut.com/l/_gUPPaoC0wTMS

Answer: b,d

o Watch Video Solution

99. Which is (are) not the example (s) of

heterogenous catalystis ?

A.Formation of S0j3; in the chamber

process

B. Fomation of SOj in the contact process


https://dl.doubtnut.com/l/_gUPPaoC0wTMS
https://dl.doubtnut.com/l/_3g0m8LoIAuEX

C. Hydrolysis of an ester in the presences

of H ions

D. Combination of H, and Cl; in the

presence of moisture.

Answer: a,c,d

o Watch Video Solution

100. The correct statement(s) pertaining to
the adsorption of a gas on a solid surface is

(are)


https://dl.doubtnut.com/l/_3g0m8LoIAuEX
https://dl.doubtnut.com/l/_2igwwgO4UJ9K

A. Adsorption is always exothermic

B. Phusisorption may transform into

chemisorpton at high temperature

C. Phuysisrotpon increase with increasing

temperature but chemisorption

decrease with increasing temperature

D. Chemisorpotion is more exothermic

than physisorption, howrver it is very

slow due to higher erengy of activation

Answer: a,b,d


https://dl.doubtnut.com/l/_2igwwgO4UJ9K

° Watch Video Solution

101. The given graphs//data I, I1, IT and IV
pepresent general terends obseved of diffent
physiorpton and chemisorption processes
under mild conditions of temperature and

pressure , which of the following choice (s)


https://dl.doubtnut.com/l/_2igwwgO4UJ9K
https://dl.doubtnut.com/l/_jJYJI8NZ6VIZ

about I, II, IT anlV is (are) correcty ?

A A
£ ) P constant 2 (I1) P constant
? 3
© he]
@© ©
2] %)
© ©
o o
kS G
€ €
3 3
£ £
~N ~
T 7z T 7
§ 1\ (1) A (V)
S 200 K >
® 250 K o \
C
8 20 [T~
é 5 Digtance of molecule
= ° from the surface
3 a
g
f( = —> AH,45=150 kJ mol™’
A.l. is  phusisorption and

chemisorption .

B. | is

chemisorption.

phusisroption  and


https://dl.doubtnut.com/l/_jJYJI8NZ6VIZ

C.IV is chemisroption and Il s

chemisorption.

D.lv is chemisroption and Il s

chemisroption .

Answer: a,c

o Watch Video Solution

102. Choose the correct reason(s) for the

stability of the lyophobic colloidal particles.


https://dl.doubtnut.com/l/_jJYJI8NZ6VIZ
https://dl.doubtnut.com/l/_o3JD8J7Beff5

A. Preferential adroption of ions on their

surface form the solution

B. Preferential adroption of ions on their

surface form the solution

C. Attraction between different particles

having oppositie charges on their

surface.

D. Potential differnce between the fixed

layer and the diffused layer of opposite

chergea reound the collidal particles .


https://dl.doubtnut.com/l/_o3JD8J7Beff5

Answer: a,d

o Watch Video Solution

103. Alum is used in purifying water by :

A.Forming silicon complex with clay

particles

B.sulphate combines with dirt and

removes it

C. coagulating the mud particles


https://dl.doubtnut.com/l/_o3JD8J7Beff5
https://dl.doubtnut.com/l/_Ujd841LhILK5

D. making mud water soluble

Answer: c

° Watch Video Solution

104. Which is not correct for physical

adsorption ?

A. Adsorption is spontaneous

B. Both enthallpy and enropy of adsorptio

are negative


https://dl.doubtnut.com/l/_Ujd841LhILK5
https://dl.doubtnut.com/l/_JO1GhftUSyqx

C. Adsroption on solid is reversible

D. Adosrpton increase with increase in

temperature

Answer: d

o Watch Video Solution

105. Identify the correct statement regarding

enzymes.


https://dl.doubtnut.com/l/_JO1GhftUSyqx
https://dl.doubtnut.com/l/_UDTSiB2Iayq4

A.Enzymes are specific biological catalyst
that possess well defined active sites

B.Enzymes are normally hetrogeneous
catlyst that are very specific in their
action

C. Enzymes are specific biological catalyst
that cannot be poisoned .

D. Enzymes are specific biological catalysts
that can normally function at very high

temperature (T = 1000K)


https://dl.doubtnut.com/l/_UDTSiB2Iayq4

Answer: b

o Watch Video Solution

106. The volume of colloidal particles V, as
compared ot the volume of solute particles in

true solution V. could be :

A ~1
B. ~10%3
c.~10~3

D. ~10°


https://dl.doubtnut.com/l/_UDTSiB2Iayq4
https://dl.doubtnut.com/l/_hObnqaxEJgpQ

Answer: d

° Watch Video Solution

107. The dispersed phase in colloidal iron (lll)
hydroxide and collodial gold is positively and
negtively charged respectively. Which of the
following statement is not correct ?

A. Magnesinum chloride solution

coagualtes gold sol readily thin iron (lll)

hydroxide sol


https://dl.doubtnut.com/l/_hObnqaxEJgpQ
https://dl.doubtnut.com/l/_B6F0p61e8rkd

B.Sodium sulphate solution causes

coagulation in both sol .

C. Mixing of the two sold has no effect

D. Coagulation in both sol can be brought

about by electrophoresis

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_B6F0p61e8rkd

108. In Langumir's model of asosrption of a

gas on a solid surface :

A.the rate of dissociation of adsorbed

molecules from the surface does not

depend on the surface covered

B. The assumption at a single site on the

surface may involve multiple molecules

at the same time


https://dl.doubtnut.com/l/_s7Bve8zhFvrq

C.the mass of gas striking a given area of

surface is proprotional to the pressrue

of the gas.

D. the mass of gas striking a given area of

surface is indedpendsnt of the pressure

of the gas

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_s7Bve8zhFvrq

109. Gold numbers of protective colloids
A, B,C and D are 0.05,0.01,0.10, and
0. 005 respectively. The correct order of their
protective powers is :

AD<A<C<B

BC<B<D<A

CA<C<B<D

DB<D< A<C(C

Answer: c

I ° Wiak~lh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_3ezoMEThJJ1h

YVOILLIL VI INAGINIE L )

110. Which of the following statements is

incorrect refgarding phsisorptions ?

A. It occurs because of van der Waak's

forces

B. More easily liquefiable gases are

adsorbed readily

C. Under high pressure it results into multi-

molecular layer on adsorbent surface


https://dl.doubtnut.com/l/_3ezoMEThJJ1h
https://dl.doubtnut.com/l/_t0KySInWY4lU

D. Enthalypy of adsorpton (AH  4sr0p— 1) iS

low and positove.

Answer: d

o Watch Video Solution

111. Rater of physisorptionincreases with :

A. decrease in temperature

B. increase in temperature

C. decrease in pressure


https://dl.doubtnut.com/l/_t0KySInWY4lU
https://dl.doubtnut.com/l/_02nTP1sVZuRf

D. decrease in surface area

Answer: a

° Watch Video Solution

112. Adsorpton of gases on solid surface is

generally exothermic because :

A. enthalpy is positive

B. entropy decrease

C. entropy increases


https://dl.doubtnut.com/l/_02nTP1sVZuRf
https://dl.doubtnut.com/l/_Pv4SdHdg7kcN

D. free energy increase

Answer: b

° Watch Video Solution

113. Lyophilic sols are

A. irreversible sols

B.they are prepared form inorganic

compounds

C. not coagulated by adding electrolystes


https://dl.doubtnut.com/l/_Pv4SdHdg7kcN
https://dl.doubtnut.com/l/_n94iJ2gDhIfb

D. self stabilizing

Answer: d

° Watch Video Solution

114. Among the following , the surfactant that
will form nicelles in aqueous solution at the
lowest nola concentration at amibemt

conditions, is :

A. CH3(CH2)15N+ (CH3)3B’I°_


https://dl.doubtnut.com/l/_n94iJ2gDhIfb
https://dl.doubtnut.com/l/_t9t05TUprmL9

B. CH3(CH2)HOSO3_ Na+
C. CH3(0H2)60503_ Na+

D. CH3(0H2)11N+ (CH3)3B’I"_

Answer: a

o Watch Video Solution

115. Among the electrolytes
Na, SOy, CaCly, Aly(S04)4 and NH,CI, the
most effective coagualting agent for 56,55 sol

IS :


https://dl.doubtnut.com/l/_t9t05TUprmL9
https://dl.doubtnut.com/l/_jdVx3pbjpIkg

A. NGQSO4
B. CaClz
C. Aly(SO,),

D. NH,CI

Answer: c

o Watch Video Solution

116. According to Freundilich assorption

isotherm , which of the following is correct ?


https://dl.doubtnut.com/l/_jdVx3pbjpIkg
https://dl.doubtnut.com/l/_EyFx3oceykYn

3=

x P’

3=

D. All the above are correct for different

ranges of rpessure .

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_EyFx3oceykYn

17. The activity of a catalyst has been
explained in terms of spontaneous adsorption
of reactant moleculse on the surface of catlyst
and ther by forming an activated adsorbed
complex along with evolution of heat . The
adorbed activated complex undergoes to
decompositio to regencerate catlyst and give
products . adorpton is of two types :

(i) Physical adsorptio due to van der Waal's
forces of attraction between reactant and
catalyst molecules , weak , less exothermic,

mulitlay and non-dirctional .


https://dl.doubtnut.com/l/_44K27zPxU8ZO

(i) Chemical dasorpton due to free valencies ,
strong, more exothermic, unilayer. The extent
of adormpotion (x/m) vs temperature at
constant pressure gives isobars. Freundilish
studied influence of pressure on the phusical
adorptons  and reported that log
“ Jog K + ~log P

—lo —log P.

moe n o

Select the correct staements .

A LT
B. LILIV

C. 1L, 1, Iv


https://dl.doubtnut.com/l/_44K27zPxU8ZO

D. LILIv

Answer: a

o Watch Video Solution

18. The activity of a catalyst has been
explained in terms of spontaneous adsorption
of reactant moleculse on the surface of catlyst
and ther by forming an activated adsorbed
complex along with evolution of heat . The

adorbed activated complex undergoes to


https://dl.doubtnut.com/l/_44K27zPxU8ZO
https://dl.doubtnut.com/l/_DkQZKjTMRT1m

decompositio to regencerate catlyst and give
products . adorpton is of two types :

(i) Physical adsorptio due to van der Waal's
forces of attraction between reactant and
catalyst molecules , weak , less exothermic,
mulitlay and non-dirctional .

(i) Chemical dasorpton due to free valencies ,
strong, more exothermic, unilayer. The extent
of adormpotion (x/m) vs temperature at
constant pressure gives isobars. Freundilish
studied influence of pressure on the phusical
adorptons  and reported that log

% log K 4+ log P
——log —log P.


https://dl.doubtnut.com/l/_DkQZKjTMRT1m

During adorption of reactant momecules on

catalyst surface:

ve, AH =

ve, AH =

AG = +ve, AH =

ve, AH =

ev, AS =

ev, AS =

ev, AS =

ev, AS =

— ve

— Ve

+ ve

+ ve


https://dl.doubtnut.com/l/_DkQZKjTMRT1m

Answer: b

° Watch Video Solution

19. The activity of a catalyst has been
explained in terms of spontaneous adsorption
of reactant moleculse on the surface of catlyst
and ther by forming an activated adsorbed
complex along with evolution of heat . The
adorbed activated complex undergoes to
decompositio to regencerate catlyst and give

products . adorpton is of two types :


https://dl.doubtnut.com/l/_DkQZKjTMRT1m
https://dl.doubtnut.com/l/_nxyO2V7xj5lj

(i) Physical adsorptio due to van der Waal's
forces of attraction between reactant and
catalyst molecules , weak , less exothermic,
mulitlay and non-dirctional .

(i) Chemical dasorpton due to free valencies ,
strong, more exothermic, unilayer. The extent
of adormpotion (x/m) vs temperature at
constant pressure gives isobars. Freundilish
studied influence of pressure on the phusical
adorptons  and reported that log
ilogK + ilogP.

m n

The graph platted between log d vs log P

m

was found to be a straight line . The slope and


https://dl.doubtnut.com/l/_nxyO2V7xj5lj

intercept of line leass for — and log K values .
n

find the wrong statement .

A.The relation holds good at average

pressure

B. The relation fails in case of chemical

adsorption

C. At very low pressuren =1

D. none of these

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_nxyO2V7xj5lj

120. The activity of a catalyst has been
explained in terms of spontaneous adsorption
of reactant moleculse on the surface of catlyst
and ther by forming an activated adsorbed
complex along with evolution of heat. The
adorbed activated complex undergoes to
decompositio to regencerate catlyst and give
products . adorpton is of two types :

(i) Physical adsorptio due to van der Waal's
forces of attraction between reactant and

catalyst molecules , weak , less exothermic,


https://dl.doubtnut.com/l/_nxyO2V7xj5lj
https://dl.doubtnut.com/l/_pxQnDnKFtGB3

mulitlay and non-dirctional .

(i) Chemical dasorpton due to free valencies ,
strong, more exothermic, unilayer. The extent
of adormpotion (x/m) vs temperature at
constant pressure gives isobars. Freundilish
studied influence of pressure on the phusical
adorptons  and reported that log
T 1

—log K + —log P.

m n

The extent of adsroptong depends on:

A. nature and surface area of adsorbent
B. nature and conceteation of adorbate

C. temperature


https://dl.doubtnut.com/l/_pxQnDnKFtGB3

D. all of these

Answer: d

o Watch Video Solution

121. Surfactants are the substances which
show surface activity .Detergents possess
surface activtiy as wll as detergency . Soaps
are anionic class of detergents . It is the
hydorphilic part of detergent momencule

which possesses the tendecy to attract water


https://dl.doubtnut.com/l/_pxQnDnKFtGB3
https://dl.doubtnut.com/l/_YtW8eoFyzyZm

moleculse wheras hydrophilic blances part
orients away from waer . The hydrophilic-
lipphilic balance (HLB) leads to affergation of
anooic or non-ionic or cationci part of
detergent to form icellse . Each molecule has
the defintie concentration at defintie
temperature at which it states to aggrater . It
is due to teh presence of two moities in their
molecules, surffactants stabilize emulision ( a
water -oil system ) . Due to larger surface area,
the mediacines are more effective in emulion
form . Emulisons are w/o or o/wtype. A

water soluble dye imparts its collour to o/w


https://dl.doubtnut.com/l/_YtW8eoFyzyZm

emulsions.

Which is incorrect about soaps?

A. Soaps are metal salts of fatty acids

B. Soaps are anionic class of surfactants of

detergents

C. Soaps form anionic micelles i.e, carrying

-ve charge.

D. none of these

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_YtW8eoFyzyZm

122. Surfactants are the substances which
show surface activity .Detergents possess
surface activtiy as wll as detergency . Soaps
are anionic class of detergents . It is the
hydorphilic part of detergent momencule
which possesses the tendecy to attract water
moleculse wheras hydrophilic blances part
orients away from waer . The hydrophilic-
lipphilic balance (HLB) leads to affergation of
anooic or non-ionic or cationci part of

detergent to form icellse . Each molecule has


https://dl.doubtnut.com/l/_YtW8eoFyzyZm
https://dl.doubtnut.com/l/_NqSYLLQ22r3h

the defintie concentration at defintie
temperature at which it states to aggrater . It
is due to teh presence of two moities in their
molecules, surffactants stabilize emulision ( a
water -oil system ) . Due to larger surface area,
the mediacines are more effective in emulion
form . Emulisons are w/o or o/wtype. A
water soluble dye imparts its collour to o/w
emulsions.

which of the following forms a cationic miclels

A. Sodium doecyl sulphate in water


https://dl.doubtnut.com/l/_NqSYLLQ22r3h

B. Sodium dodecyl bezene sulphonate in

water

C. Sodium octanoate

D. Dodecyl ammonium chaoride

Answer: d

o Watch Video Solution

123. Surfactants are the substances which
show surface activity .Detergents possess

surface activtiy as wll as detergency . Soaps


https://dl.doubtnut.com/l/_NqSYLLQ22r3h
https://dl.doubtnut.com/l/_p168elk0bFe9

are anionic class of detergents . It is the
hydorphilic part of detergent momencule
which possesses the tendecy to attract water
moleculse wheras hydrophilic blances part
orients away from waer . The hydrophilic-
lipphilic balance (HLB) leads to affergation of
anooic or non-ionic or cationci part of
detergent to form icellse . Each molecule has
the defintie concentration at defintie
temperature at which it states to aggrater . It
is due to teh presence of two moities in their
molecules, surffactants stabilize emulision ( a

water -oil system ) . Due to larger surface area,


https://dl.doubtnut.com/l/_p168elk0bFe9

the mediacines are more effective in emulion
form . Emulisons are w/o or o/wtype. A
water soluble dye imparts its collour to o/w
emulsions.
Which might have lowest value of cirtical
micelle conxentration in water ?

A. Sodim octanoate

B. Ssodim decanonte

C. Sodim hexanoate

D. Sodium dodecanaote

Answer: d


https://dl.doubtnut.com/l/_p168elk0bFe9

° Watch Video Solution

124. Surfactants are the substances which
show surface activity .Detergents possess
surface activtiy as wll as detergency . Soaps
are anionic class of detergents . It is the
hydorphilic part of detergent momencule
which possesses the tendecy to attract water
moleculse wheras hydrophilic blances part
orients away from waer . The hydrophilic-
lipphilic balance (HLB) leads to affergation of

anooic or non-ionic or cationci part of


https://dl.doubtnut.com/l/_p168elk0bFe9
https://dl.doubtnut.com/l/_zAB1bmO7Oe0n

detergent to form icellse . Each molecule has
the defintie concentration at defintie
temperature at which it states to aggrater . It
is due to teh presence of two moities in their
molecules, surffactants stabilize emulision ( a
water -oil system ) . Due to larger surface area,
the mediacines are more effective in emulion
form . Emulisons are w/o or o/wtype. A
water soluble dye imparts its collour to o/w
emulsions.

Select the correct statements .

l. In multimolecular collidal solutiobatoms of

momecules are held togenther by va der


https://dl.doubtnut.com/l/_zAB1bmO7Oe0n

Waaks' forces

Cleansing action of soap is due to adsorption
of iliy and gresy material at hydrophilic
centres

lll. Hydorphilic part of oily and greasy
materical at hydrophilic centres

IV. The aggergation of ions i.e, micelle

formation is independt of temeratrue .

A LTI
B., I, IV

C. LIl


https://dl.doubtnut.com/l/_zAB1bmO7Oe0n

D. Il

Answer: c

o Watch Video Solution

125. Surfactants are the substances which
show surface activity .Detergents possess
surface activtiy as wll as detergency . Soaps
are anionic class of detergents . It is the
hydorphilic part of detergent momencule

which possesses the tendecy to attract water


https://dl.doubtnut.com/l/_zAB1bmO7Oe0n
https://dl.doubtnut.com/l/_KtmK8o5ccs0I

moleculse wheras hydrophilic blances part
orients away from waer . The hydrophilic-
lipphilic balance (HLB) leads to affergation of
anooic or non-ionic or cationci part of
detergent to form icellse . Each molecule has
the defintie concentration at defintie
temperature at which it states to aggrater . It
is due to teh presence of two moities in their
molecules, surffactants stabilize emulision ( a
water -oil system ) . Due to larger surface area,
the mediacines are more effective in emulion
form . Emulisons are w/o or o/wtype. A

water soluble dye imparts its collour to o/w


https://dl.doubtnut.com/l/_KtmK8o5ccs0I

emulsions.

Select the correct statements .

|. Butter is water dispersed in fat

. Milk is fat disperse in water

Il. Surfactants lower the surface tension of
liquie

IV. Indigo a dye will impart blue collour to

whole butter

A LT

B. LIl ,Iv

C. 1L, 1, Iv


https://dl.doubtnut.com/l/_KtmK8o5ccs0I

D. All of these

Answer: a

° Watch Video Solution

126. Statements : Bnow-a-days term catalyst
means specifically for a substance that
accelraties the reaction.

Explanations : The terms inbivbitor is
commonly used for substances with retards

the rate of reaction .


https://dl.doubtnut.com/l/_KtmK8o5ccs0I
https://dl.doubtnut.com/l/_whPbcrvYM7Cm

A.S is correct but E is wrong .

B.S is worong but E is correct

C.Both S and E are correct and E is correct

explanation of (S) .

D.Both S and E are correct but E is not

correct explanation of S.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_whPbcrvYM7Cm

127. Statements : The activity of catalyst is

more or less specific.

Explanations : A catalyst for one reaction is

not necessary to catlyse the other reaction .

A.S is correct but E is wrong .

B.S is worong but E is correct

C.Both S and E are correct and E is correct

explanation of (S) .

D.Both S and E are correct but E is not

correct explanation of S.


https://dl.doubtnut.com/l/_KqUBtOT8ZT8M

Answer: D

o Watch Video Solution

128. Statements : The effectivenss of catlyst
has found more applications is solid catlyst
and gaseous reactant systems .

Explanations : A large number of industrial

rpeparation are based on this type fo reaction

A.S is correct but E is wrong .


https://dl.doubtnut.com/l/_KqUBtOT8ZT8M
https://dl.doubtnut.com/l/_iPts5SKrx9lQ

B.S is worong but E is correct

C.Both S and E are correct and E is correct

explanation of (S) .

D.Both S and E are correct but E is not

correct explanation of S.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_iPts5SKrx9lQ

129. Statements : Thermal decomposition of
KClO3 () in presence of MnOy(,) is an
exaple of homgenous catalysis.
Explanations : A homogenerous catlyasi
involves phase P =1

A.S is correct but E is wrong .

B.S is worong but E is correct

C.Both S and E are correct and E is correct

explanation of (S) .


https://dl.doubtnut.com/l/_FMSZvl3nmd5K

D.Both S and E are correct but E is not

correct explanation of S.

Answer: B

o Watch Video Solution

130. Statements : A catalyst lowers the
threshokd energy level for reaction .

Explanations : Catalyst combines with
reactabnt to form an exothermic intermediate

and provide another parthway to traction .


https://dl.doubtnut.com/l/_FMSZvl3nmd5K
https://dl.doubtnut.com/l/_TjCTrlCDuGCa

A.S is correct but E is wrong .

B.S is worong but E is correct

C.Both S and E are correct and E is correct

explanation of (S) .

D.Both S and E are correct but E is not

correct explanation of S.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_TjCTrlCDuGCa

131. Statements : Lead teraethyl acts as

inhibitor for combustion of gasoline .

Explanations : It retards the precombustion of

gasoline

A.S is correct but E is wrong .

B.S is worong but E is correct

C.Both S and E are correct and E is correct

explanation of (S) .

D.Both S and E are correct but E is not

correct explanation of S.


https://dl.doubtnut.com/l/_k1BeqjKQcDLQ

Answer: C

o Watch Video Solution

132. Statements : Enzymes are protenisns and
enrzyme catalyused reactions re called
biolgical catalysis .

Explanations : The activity of enzyme as

catalyst is increased in presence of vitamins .

A.S is correct but E is wrong .

B.S is worong but E is correct


https://dl.doubtnut.com/l/_k1BeqjKQcDLQ
https://dl.doubtnut.com/l/_N3faAYuszLT1

C.Both S and E are correct and E is correct

explanation of (S) .

D.Both S and E are correct but E is not

correct explanation of S.

Answer: D

o Watch Video Solution

133. Statements : Zeolites are water softener

as well as catlyst .


https://dl.doubtnut.com/l/_N3faAYuszLT1
https://dl.doubtnut.com/l/_E0KHVJ7LpwWl

Explanations : The catalytic atction of zeolites

is based uupon their shape seclectity .

A.S is correct but E is wrong .

B.S is worong but E is correct

C.Both S and E are correct and E is correct

explanation of (S) .

D.Both S and E are correct but E is not

correct explanation of S.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_E0KHVJ7LpwWl

134. Statements : In catalysis , the eneire
reaction occurs in a single phase
Explanations : Catalystic ation of a surface
depends on its abosrupoint of the reactants .
A.S is correct but E is wrong .
B.S is worong but E is correct

C.Both S and E are correct and E is correct

explanation of (S) .


https://dl.doubtnut.com/l/_E0KHVJ7LpwWl
https://dl.doubtnut.com/l/_GxkA2FAPxOcV

D.Both S and E are correct but E is not

correct explanation of S.

Answer: B

o Watch Video Solution

135. Statements : A catalyst can be poisoned
by a small amounts of foreighn substances .
Explanations : Poison and reactants compete

for the available catalyst surface .


https://dl.doubtnut.com/l/_GxkA2FAPxOcV
https://dl.doubtnut.com/l/_mcKMsktjKW77

A.S is correct but E is wrong .

B.S is worong but E is correct

C.Both S and E are correct and E is correct

explanation of (S) .

D.Both S and E are correct but E is not

correct explanation of S.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_mcKMsktjKW77

136. Statements : Colloidal silver iondie is
sikytuib . Wghen subjected to an electric field
the collidal particles migrate to the abnode .

Expabnations : Colloidal particles of Agl adorb
iodid ions and thus become electrically

charged .

A.S is correct but E is wrong .

B.S is worong but E is correct

C.Both S and E are correct and E is correct

explanation of (S) .


https://dl.doubtnut.com/l/_SAIjllglVw4T

D.Both S and E are correct but E is not

correct explanation of S.

Answer: C

o Watch Video Solution

137. Statements : A catalyst doesnot alter the
equilibrium constant os a reaction .

Expabnations : A catalyst complex with the
reactants and provides an alternate path wirh

a lower energy of activation for the reacton .


https://dl.doubtnut.com/l/_SAIjllglVw4T
https://dl.doubtnut.com/l/_FFYzKyw1z6nk

The forwaord and forwad and reverse

reactions are affected to the same extent .

A.S is correct but E is wrong .

B.S is worong but E is correct

C.Both S and E are correct and E is correct

explanation of (S) .

D.Both S and E are correct but E is not

correct explanation of S.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_FFYzKyw1z6nk

138. Statements : Haber's synthesis of NHj is
carried out in the presence of a catalyst .
Expabnations :The catlyst shifts the positon of

the equilibrium reaction .

A.S is correct but E is wrong .

B.S is worong but E is correct

C.Both S and E are correct and E is correct

explanation of (S) .


https://dl.doubtnut.com/l/_FFYzKyw1z6nk
https://dl.doubtnut.com/l/_xTAlO2WO3BUZ

D.Both S and E are correct but E is not

correct explanation of S.

Answer: A

o Watch Video Solution

139. Statements : In the presence of promter,
the activity of the catalyst is enhanced ..

Expabnations : The promter increases the
surface area of the catlyst nad thus enhancing

the number of active centres .


https://dl.doubtnut.com/l/_xTAlO2WO3BUZ
https://dl.doubtnut.com/l/_zZWIFjHQ0EAy

A.S is correct but E is wrong .

B.S is worong but E is correct

C.Both S and E are correct and E is correct

explanation of (S) .

D.Both S and E are correct but E is not

correct explanation of S.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_zZWIFjHQ0EAy

140. Statements : A catalyst enhances the rate
of a reactgion .
Expabnations : The energy foactivation of the
reaction is lowered in presence of a catarge of
the coagualnt ion.

A.S is correct but E is wrong .

B.S is worong but E is correct

C.Both S and E are correct and E is correct

explanation of (S) .


https://dl.doubtnut.com/l/_v4HYwTro1ClC

D.Both S and E are correct but E is not

correct explanation of S.

Answer: C

o Watch Video Solution

141. Statements : A collode gets coagulated by
addition of an electrolyte ..

Expabnations : The rate of coagultion depends
on the magnitude and sing of the charge of

the coagulant ion.


https://dl.doubtnut.com/l/_v4HYwTro1ClC
https://dl.doubtnut.com/l/_cbFZZw6CZCPq

A.S is correct but E is wrong .

B.S is worong but E is correct

C.Both S and E are correct and E is correct

explanation of (S) .

D.Both S and E are correct but E is not

correct explanation of S.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_cbFZZw6CZCPq

142. Statements : A colloidal styate , a
dispersion of a disperes phase in a dispersion
medium is a heterogneous state..

Expabnations : The particle size of dispersed
phase ragnes vbetween true solution and

suspension state.

A.S is correct but E is wrong .

B.S is worong but E is correct

C.Both S and E are correct and E is correct

explanation of (S) .


https://dl.doubtnut.com/l/_LUIo7OxH3oZK

D.Both S and E are correct but E is not

correct explanation of S.

Answer: C

o Watch Video Solution

143. Statements : The stability of Iyophobic
sold is lesser than lyophilic sols .
Expabnations : Lyophilic sols pssess loving

nature for liquid .


https://dl.doubtnut.com/l/_LUIo7OxH3oZK
https://dl.doubtnut.com/l/_i0WvR6FYTEOs

A.S is correct but E is wrong .

B.S is worong but E is correct

C.Both S and E are correct and E is correct

explanation of (S) .

D.Both S and E are correct but E is not

correct explanation of S.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_i0WvR6FYTEOs

144. Statements : The charge on lyophbbic
particles is responsible for their bnature to
exxist as sol ..

Expabnations : it is the formation of thin layer
round sol particles which is responsible for

stabiliy of lyophilic sols .

A.S is correct but E is wrong .

B.S is worong but E is correct

C.Both S and E are correct and E is correct

explanation of (S) .


https://dl.doubtnut.com/l/_Hy6gtzOYMmWM

D.Both S and E are correct but E is not

correct explanation of S.

Answer: D

o Watch Video Solution

145. Statements : The separation of insoluble
impurities form a colloidal solution requires
dialysis .

Expabnations : The ionic impurites present in


https://dl.doubtnut.com/l/_Hy6gtzOYMmWM
https://dl.doubtnut.com/l/_Vl8urULTPyrO

collidal  solution are  separated by

electrodialysis .

A.S is correct but E is wrong .

B.S is worong but E is correct

C.Both S and E are correct and E is correct

explanation of (S) .

D.Both S and E are correct but E is not

correct explanation of S.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Vl8urULTPyrO

146. Statements : The blue colur of sky is due
to scattering of light by dirt or dust particles
oresebt ub aur.

Expabnations : Larger size of disperes phase
particles show more sctteing as well as higher

is the wavelength of light lesser is scattgering

A.S is correct but E is wrong .

B.S is worong but E is correct


https://dl.doubtnut.com/l/_Vl8urULTPyrO
https://dl.doubtnut.com/l/_Ehp8qpsxPyA4

C.Both S and E are correct and E is correct

explanation of (S) .

D.Both S and E are correct but E is not

correct explanation of S.

Answer: C

o Watch Video Solution

147. Statements : A yeellow colured As,S3 sol
on mixing with red colured Fe(OH), sol gives

colsurless soltion .


https://dl.doubtnut.com/l/_Ehp8qpsxPyA4
https://dl.doubtnut.com/l/_9oSXK3VuizLj

Expabnations : The -ve charge os Asy5; sol
particles is neutralised by +4wve charge of
Fe(OH),; sol particles and thus sols are

destabilized and show mutual coagulation .
A.S is correct but E is wrong .
B.S is worong but E is correct
C.Both S and E are correct and E is correct
explanation of (S) .

D.Both S and E are correct but E is not

correct explanation of S.


https://dl.doubtnut.com/l/_9oSXK3VuizLj

Answer: C

o Watch Video Solution

148. Statements : Gelation is foten used as
protective colloid.
Expabnations : Protection is a property of

lyophilic collids .

A.S is correct but E is wrong .

B.S is worong but E is correct


https://dl.doubtnut.com/l/_9oSXK3VuizLj
https://dl.doubtnut.com/l/_RGdfmcy4MYbZ

C.Both S and E are correct and E is correct

explanation of (S) .

D.Both S and E are correct but E is not

correct explanation of S.

Answer: D

o Watch Video Solution

149. Statements : C(C13HysNH3Cl and

0123H>(12)H25COONCL are collidal

enrtroluyte .


https://dl.doubtnut.com/l/_RGdfmcy4MYbZ
https://dl.doubtnut.com/l/_Vta0MuU46zno

Expabnations : The substabnces which behae

as electolyte at lower concentration and above

definite concentration forms sol are called

collidal electrolyte .

A.S is correct but E is wrong .

B.S is worong but E is correct

C.Both S and E are correct and E is correct

explanation of (S) .

D.Both S and E are correct but E is not

correct explanation of S.


https://dl.doubtnut.com/l/_Vta0MuU46zno

Answer: C

° Watch Video Solution

150. Statements : The micelle formation by a
surfactant  takes places at certain
concentration at definite temperature..

Expabnations : The temperature above which a

surfactant forms micells is called Kraft point .

A.S is correct but E is wrong .

B.S is worong but E is correct


https://dl.doubtnut.com/l/_Vta0MuU46zno
https://dl.doubtnut.com/l/_yi9VT7745SFU

C.Both S and E are correct and E is correct

explanation of (S) .

D.Both S and E are correct but E is not

correct explanation of S.

Answer: D

o Watch Video Solution

151. Statements : The concentration of
sulphide ores by froth floation is based on

emulsifcation .


https://dl.doubtnut.com/l/_yi9VT7745SFU
https://dl.doubtnut.com/l/_mptioR3xNaw2

Expabnations : Pine oil in water forms

emulsion .

A.S is correct but E is wrong .

B.S is worong but E is correct

C.Both S and E are correct and E is correct

explanation of (S) .

D.Both S and E are correct but E is not

correct explanation of S.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_mptioR3xNaw2

152. Statements : The digestion of fat in

intestine involves emulsification

Expabnations : Bile salts stabilize the emulsion

so formed .

A.S is correct but E is wrong .

B. S is worong but E is correct

C.Both S and E are correct and E is correct

explanation of (S) .


https://dl.doubtnut.com/l/_mptioR3xNaw2
https://dl.doubtnut.com/l/_yIeWReXuce9f

D.Both S and E are correct but E is not

correct explanation of S.

Answer: C

o Watch Video Solution

153. Statements : Fe3" ions can be used for
the coagulation of As9.55 so.
Explanations : F'e3™ ions react with As,S5 to

give FeySs.


https://dl.doubtnut.com/l/_yIeWReXuce9f
https://dl.doubtnut.com/l/_TSEVZ71LAAAR

A.S is correct but E is wrong .

B. S is worong but E is correct

C.Both S and E are correct and E is correct

explanation of (S) .

D.Both S and E are correct but E is not

correct explanation of S.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_TSEVZ71LAAAR

1. Which plot is the adsorptoion isobar for
chemisorption where m (at constant pressure

) at temperature T ?

(##DPB_PHY CHM IX C13 EO1 018 O01.png"

width="30%">.

(##DPB_PHY CHM IX C13 EO1 018 0O02.png"


https://dl.doubtnut.com/l/_Gy3AkaJecYwF

width="30%">.

(##DPB_PHY CHM IX_C13 EO1 018 003.png"

width="30%">.

(##DPB_PHY CHM IX C13 EO1 018 O04.png"

width="30%">

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_Gy3AkaJecYwF
https://dl.doubtnut.com/l/_QKN9dh7l0d65

2. The number of millimolse of sodium

chloride and each of two sols . S and Y are as

follows :
XY

NaCl 51 46

Magcly, 71 23

Which of the following would not be
reasonalbe value to expect for the amout of

the other salt required to cause precipitation .

A. X will be precipitated by 90 millimoles of

AlCl,


https://dl.doubtnut.com/l/_QKN9dh7l0d65

B. Y will be precipitated by 20 millimoles of

AlCl,

C. X will be precipitated by 25 millimoles

of Na2SO4

D. Y will be precipitated by 20 millimoles of

MgSO4

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_QKN9dh7l0d65

1. The activity of a catalyst has been explained
in terms of spontaneous adsorption of
reactant moleculse on the surface of catlyst
and ther by forming an activated adsorbed
complex along with evolution of heat . The
adorbed activated complex undergoes to
decompositio to regencerate catlyst and give
products . adorpton is of two types :

(i) Physical adsorptio due to van der Waal's

forces of attraction between reactant and


https://dl.doubtnut.com/l/_wyzxEPZCQyP2

catalyst molecules , weak , less exothermic,
mulitlay and non-dirctional .

(i) Chemical dasorpton due to free valencies ,
strong, more exothermic, unilayer. The extent
of adormpotion (x/m) vs temperature at
constant pressure gives isobars. Freundilish
studied influence of pressure on the phusical
adorptons  and reported that log
T 1

ElogK + zlogP.

Select the correct satements .

A LIV

B. LII, I


https://dl.doubtnut.com/l/_wyzxEPZCQyP2

C. 1L, 1, Iv

D. LIl , IV

Answer: a

o View Text Solution

2. The activity of a catalyst has been explained
in terms of spontaneous adsorption of
reactant moleculse on the surface of catlyst
and ther by forming an activated adsorbed

complex along with evolution of heat . The


https://dl.doubtnut.com/l/_wyzxEPZCQyP2
https://dl.doubtnut.com/l/_sRADA2YXmkUt

adorbed activated complex undergoes to
decompositio to regencerate catlyst and give
products . adorpton is of two types :

(i) Physical adsorptio due to van der Waal's
forces of attraction between reactant and
catalyst molecules , weak , less exothermic,
mulitlay and non-dirctional .

(i) Chemical dasorpton due to free valencies ,
strong, more exothermic, unilayer. The extent
of adormpotion (x/m) vs temperature at
constant pressure gives isobars. Freundilish
studied influence of pressure on the phusical

adorptons  and reported that log


https://dl.doubtnut.com/l/_sRADA2YXmkUt

% log K 4+ log P
——log —log P.

Select the correct statements .

AL TLII
B. LI, IV
C. 1L 1l v
D. 1,1l
Answer: a

° View Text Solution



https://dl.doubtnut.com/l/_sRADA2YXmkUt

3. The activity of a catalyst has been explained
in terms of spontaneous adsorption of
reactant moleculse on the surface of catlyst
and ther by forming an activated adsorbed
complex along with evolution of heat . The
adorbed activated complex undergoes to
decompositio to regencerate catlyst and give
products . adorpton is of two types :

(i) Physical adsorptio due to van der Waal's
forces of attraction between reactant and
catalyst molecules , weak , less exothermic,

mulitlay and non-dirctional .


https://dl.doubtnut.com/l/_0E8m8xninsKA

(i) Chemical dasorpton due to free valencies ,
strong, more exothermic, unilayer. The extent
of adormpotion (x/m) vs temperature at
constant pressure gives isobars. Freundilish
studied influence of pressure on the phusical
adorptons  and reported that log
“ Jog K + ~log P

—lo —log P.

moe n o

Select the correct statements .

A LIV
B. LI I

C. 1L, 1, Iv


https://dl.doubtnut.com/l/_0E8m8xninsKA

D. LIl

Answer: b

o View Text Solution

1. Statements : Oxidation of Na3SO3 is not
cauysed by air but in presence of
Na3AsO —; both  undego  oxidation

simultaneously .


https://dl.doubtnut.com/l/_0E8m8xninsKA
https://dl.doubtnut.com/l/_7rDAyDsMkeJf

Explanations : Neither NaSO3 nor Na3 AQOs is

oxidised by air.

A.S is correct but E is wrong .

B.S is worong but E is correct

C.Both S and E are correct and E is correct

explanation of (S) .

D.Both S and E are correct but E is not

correct explanation of S.

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_7rDAyDsMkeJf
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